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o2 " The faults due to ass1gnab1€ causes

-

AnSWer ALL questtons' G e S
ALL quest1ons carry EQUAL marks -_"‘f.'(_IO X _1Lf={ 10) R RN

R ,. 1 .Varratlon in the 1tems produced ina factory may be dug. to t fj R
) assignable causes : - (ii)  ‘chance factors -
h -(111) both (a) and b (1v) None of these - -

10 (i) Canbe removed (11) ' cannot be removed
. ‘(111) can someumes be removed (1v) All the above N

P Shewhart s control chars are meant

| (i) to deduct whether the process is under statlsttcal qUality'veontTO‘l' R R
© (i) to find the assignable causes b RTINS OF o
©o (i) tor reflect the selectlon of samples L '
Gv) Alltheabove *_ ST
LA Tnal control llmlts for mean w1th usal notattons are
) UCI=X+AiS, CL=X,L.CL=X - A S R
() UCL=X+A.S, CL—A;S LCL=X- Als e
(i) UCL=K + Al S, CL=A;S LCL'—X+A2$ T
o '(1v) Noneoftheabove I el

5" ; ‘iThe expected sample size requu'ed to amve at a demston about the lot is called
% (i) -arandom variable - (i) Average Sample Number * = =
' "(m) power curve: R (1v) None of the above ‘ ‘

,» 6 : _‘The probabrlrty of rej ectmg a lot havmg p as. the process average defectlves is known as o B
(i) - consumer’s risk . T (if) - producer’s risk NN E
' ~'(111) Type I ﬁfmf : RN, (1v) All the above

7 o Acceptmg samplmg plans are preferable due to 'f R

" (i) - theeconomy in mspectlon SRR (i) protectrontopenshable 1tems -
w (i) mcreased efﬁc1ency in the 1nspect10n of ttems (1V) All the above B

8 »5' B ;_The dec1s1on about the acceptance or rejectlon of alot by vanables is L
@) less reliable than by attnbutes (11) more reliable than. by attrlbutes -l"f ’
v :;(111) not “easible . "’ o (1v) All the above PSR

o9 -What ts fhe farlure cost of aproduct possessmg rel1ab1hty R—- Sl T e
‘:_”(111) Inhmty . (1V) Noneofthe above PSS N e o
10 {ffWthlamong the followmg exhlbrts mversely proportlonal relatlonsmp W1th the T A
o reliability? - L R
T@) Productron COSt EE (u) De51gn and development cost S
"“‘(m: Mamtenance and repatr cost (tv) All of the above : RS
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SRR Answer ALL.Questlons RUREEPRUREIE 0%
_ ’_}ALL Questlons Carry EQUAL Marks (5 X 7 35)
‘jWnte short notes an aSSIgnable causes and chance factors i ) E : ‘7’, R v
L OR : g : ,

}.rleﬂy outhne the concept of process and product control

'iDlSCUSS the behavrour of X chart m relatron to R charts Ll

% »} Descrlbe the 1mportant steps for the constructlon p and np charts‘ _
A Explam an average outgomg quahty hrrut L ST
._..j'.Explam the procedure of smgle samphng plan w1th ﬂow chart o 1 R
L : .‘_'.;.lee the advantage and dlsadvantages of acceptlng samphng plan for Varlables i .j
b _,;Explam the concept of Normal Reduced and Ttghtened plans o fjj N g

15 - ‘_fi B Bneﬂy explam hazard fallure rate
__-Explal ;the meamng of MTTF (Mean Time to Fallure)

Sample No "15'._}-' 2ﬁ 3 4 -'f‘5_ :']"6;* 78 ,' 110}
f © o |[Mean - 143 49 374414513751 }46[43 |4
Range 15 16 [5|717 1418 [6 |4 St
-.Calculate the values for the central line and the control lnmts for the mean chart d-
:»range chatt Comment on the state of control e Jh .

"'Brleﬂy explam the OC curve of sequent1a1 samphng plan

, enve that n and k for known o plans

,\'” ,

"'Bneﬂy explam the concept of mean trme between fallure rate;“ S



